
 
 
 
 
T2800  3 SHELF TROLLEY 
 
 
Instructions 
 
 

1. Caster installation 

Using #10 bolts #12 washer and #11 hex nuts for casters, attach #5 

two fixed casters assemblies to the #2 bottom shelf at one end, and #6 

two swivel. Caster at the other end 

 

 

2. Pillars 

Using #7 carriage bolt and #9 hex nut to loosely secure the #4 pillars 

to the bottom tray.  

Repeat 4 comers with same carriage bolt and hex nut 

 

 

3. Middle tray 

Using #7 carriage bolt and #9 hex nut to loosely secure the #4 pillars 

to the bottom tray 

Repeat 4 comers with the same carriage bolt and hex nut 

 

 

4. Top tray 

Using #7 carriage bolt and #9 hex nut to loosely secure the #4 pillars 

to the top tray 

Repeat 4 comers with the same carriage bolt and hex nut. 

 

 

5. Installing the handle 

Install the handle on the side where you have the swivel caster in 

place 

Use #8 hex bolt and #9 hex nut to fasten the  

Handle onto the trolley 

 

6. Once all of the components are in place, you can now tighten all of the 

loose bolts. 
 

 
 

T2800-I-2411A-EM 



T2800

PARTS LIST

 No. Description Q'ty

1 Top & Middle Tray 2

2 Bottom Tray 1

3 Handle 1

4 Pillar 4

5 Fixed Caster 2

6 Swivel Caster 2

7 Carriage Bolt For Pillar 22

8 Hex Bolt For Handle 2

9 Hex Nut 24

10 Bolt For Caster 16

11 Hex Nut For Caster 16

12 Washer For Caster 16

T2800-P-2411A-EM

3 SHELF TROLLEY

Carefully unpack and spread out all parts in large uncluttered area.

Familiarize yourself with all parts and compare them with the drawing below to make sure none are missing.

Read all assembly instructions before beginning


